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FilizZ1 B =Falle 1 1 = = 2 = = = = = = = = = = = 1 4x4 1 1 FilizE1
Fifiz= 2 stk BTN 1 1 1 — 1 — — — — — — — — — — — 1 4x4 1 1 Filiz 2
Filiz=3 cv EEEIUNA 1 1 1 = 1 = = = = = = = = = = = 1 8x8 2 0 3 Filiz3
Fifiz= 4 SRS e 1 1 1 = 2 = = = = = = = = = = = 1 4x4 gib:ﬁﬁ 1 1 FihiE4
FiiZs | AR EEEIUNA 1 1 1 = 1 = = = = = = = = = = = 1 4x4 - 1 1 FilizE5
Filiz=6 A EZTEYNAR 1 1 1 — 1 — — — — — — — — — — — 1 8x8 1 1 Fii=6
FhE7 |/ ATUy | BEEIEEA 1 1 1 = 3 1 = = = = = = = = = = 1 16x16 2 2 2 Filiz7
Fi=8 | DRy | EEFEEA 1 1 1 — 3 — — — — — — — — — — — 1 8x8 2 1 2 Fiii=8
FilE9 | BSMRI EEFIIEA 1 1 1 = 3 = = = = = = = = = = = 1 8x8 2 1 2 FilizE9
FiZ10 | BSCT EEFIIEA 1 1 2 — 3 — — — — — — — — — — — 1 8x8 2 1 2 FHE10
FifiEl 1l | WBCR BEIBA | EEONE 1 3 = 2 = = = = = = = = = = = 1 8x8 2 1 3 FilizE1 1
FHE12 | ORy b EEEIEA 1 1 1 = 3 = = = = = = = = = = = 1 8x8 2 1 2 FiE1 2
FiliZ13 | EEE EEFIIEA 1 1 1 = 2 = = = = = = = = = = = 1 8x8 2 1 2 FiiE13
FiiZ14 | WEBCR EEEIEA | SEBTIER 1 3 — 2 — — — — — — — — — — — 1 8x8 2 1 3 FiE1 4
FiMiE15 | DRy b EEMIIEA 1 1 1 = 3 = = = = = = = = = = = 1 8x8 2 1 2 FiE15
FMiE16 LA BEMIEA 1 1 1 = 2 = = = = = — — — — — — 1 8x8 2 1 2 FiliE1 6
FiiE17 | Ry | BEEIESHA 1 1 1 = 2 = — = = = — — — = — = 1 8x8 2 1 2 FHE17
FihE18 | HRT EEEIHA 1 1 1 = 3 = = = = = = = = = = = 1 32x32 2 2 2 FHE18
FiiE19 | HWAT EEEIIEA 1 1 1 = 3 = = = = = = = = = = = 1 32x32 2 2 2 FiliE19
FifiE20 | WAT ERMEIBIA 1 1 1 = = = 4 = = = = = = = = = 1 32x32 2 2 2 Filiz2 0
FifiE2 1 HWRT EEEIEIA 1 1 1 — — — 4 — — — — = = = = — 1 32x32 2 2 2 FiliE2 1
FifiE22 | HATF ERMEIBIA 1 1 1 = = = 4 = = = = = = = = = 1 32x32 2 2 2 FifiE2 2
SFFHEAL = = 1 = = = = = = = = = = = = = = = = = = = SFFAEBAL
AFFHTEBAL — — 1 — — — — — — — — — — — — — — — — — — — AFFHTEBAL
RREMRIZEEE = = = = = = = = 2 = 2 = = = 2 2 = = = = = = FREM R
3F b= — — — — 2 — — — — 2 2 — — — 1 1 — — — — — — 3F M-
4F h-hzE — — — — 1 — — — — 2 2 — — — 1 1 — — — — — — 4F h0-hE
3F 1BHEE — — — — = = = = = = = = 1 — — — — — — — — — 3F Rz
HCU = = = = = = = = = = = 2 = 2 2 = = = = = = HCu it - IR O A
Icu — — — — — — — — — — — 2 — 2 1 1 — — — — — — (e 15 - AR O
SFERIRE = = = = = = = = 2 = 2 = = = 1 1 = = = = = = EEEE
kLTl — — — — — — — — — — — — — — 2 2 — — — — — — kLTl ES
4FA8975975" — = = = 1 = = = 2 = 2 = = = 1 1 = = = = = = AFA9975975"
4FER — — — — — — — — — — — 2 — 2 2 2 — — — — — — 4FE 15 - AR O
SFER — — — — — — — — — — — 2 — 2 2 2 — — — — = = SFEFS it - IR O A
BEIRIREE = = = = = = = = = = = = = = = = 6 = = = = = BRI
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